498032 - CT 36 E AC-LHS - CLEANTEX







N M 1n 0 N < n o
O O (o] \(e] [(») N N N
r’

Pos| Part No. Description Quantity| Price |Price|Currency| storage |Warranty

each incl location

Excl VAT

VAT
1 452450 Raised-head screw 3,5 x 14 mm 4 1.25 usb Yes
2 XXX No longer available 1 No
2 XXX No longer available 1 No
2 |454798 Socket AUS 240V 1 74.91 usD Yes
2 |454797 Socket CH 230V 1 48.83 usD Yes
2 454901 Socket DK 230V 1 45.98 uUsb Yes




2 |454799 Socket GB 240V 1 43.66 usb Yes
2 499481 Socket JP 1 59.90 usb Yes
2 |497534 Socket TW 1 48.23 usb Yes
2 |200648 Socket 1 25.20 usb Yes
3 200655 Cable harness 1 6.78 usb Yes
3 |499491 Cable harness 1 7.52 usb 5a-2-08 Yes
4 |476004 Cheese head screw 2 1.17 usb 6G-3-06 Yes
5 496235 Cover USA 1 5.98 usb 5A-2-07 Yes
6 496141 Compressed air module DL CT26/36 1 220.00 usbD No
10 |452051 O-ring 1 0.91 usb 5D1-5-01 Yes
11 (452452 Flat head screw M4 x 8 2 0.91 usb Yes
12 498079 Screen CTL AC 1 18.86 usb Yes
13 |201793 Conversion kit 1 32.11 usb Yes
14 |200599 Board segment 1 2.02 usb Yes
15 |xxx No longer available 1 No
16 (498822 Electronic CTL AC 100 - 110V 1 116.45 usb Yes
16 (202323 Electronic 120V USA 1 120.25 usb Yes
17 (496236 Clamp 1 14.34 usD Yes
18 (496237 Hood 1 33.97 usb 5F-1-02 Yes
19 |474911 Cheese head screw 5 1.36 usb 5A-2-07 Yes
20 452447 Raised-head screw 5,0 x 30 mm 14 0.91 usb C0-1-05 Yes
21 |477819 Protective grating USA 1 4.65 usb Yes
22 |496239 Housing insert USA 1 38.68 usb Yes
23 (496244 Grip 1 13.27 usD 5A-4-02 Yes
24 1496243 Housing 1 41.97 usb 5G-3-03 Yes
25 |496727 Cable holder 1 11.88 usb 5A-2-09 Yes
26 |476795 Raised-head screw 2 1.22 usb 5E-3-08 Yes
27 |XXx No longer available 1 No
27 (200643 Cable with plug 1 63.25 usb Yes
27 |201554 Cable with plug 1 64.61 usb Yes
27 200641 Cable with plug 1 63.25 usb Yes
27 (200857 Cable with plug 1 63.25 usb 5B-2-08 Yes
27 (200640 Cable with plug 1 63.25 usb Yes
27 (200907 Mains cable 1 63.25 usb Yes
27 (200644 Cable with plug 1 63.25 usb Yes
27 (200809 Cable with plug 1 63.25 usb Yes
27 |476492 Cable with plug HO7RN-F 1 Yes
27 |201553 Cable with plug 1 63.25 usb Yes
28 |xxx No longer available 1 No
29 (200586 Cable clamp 1 0.87 usb Yes
30 (496250 Seal kit 1 39.45 usb Yes
32 (496773 Flexible lead pack AUS / USA 1 17.30 usb Yes
33 |467456 Raised-head screw 6 0.97 usb Yes
34 |xxx No longer available 1 No
35 496255 Filter holder 1 21.94 usb 5B-1-09 Yes
36 (201806 Filter housing 1 120.12 usb Yes
36 |498126 Filter housing AUS 1 Yes
36 (496407 Filter housing USA 1 218.66 usb 5F-1-03 Yes
36 (498085 Filter housing CT AC USA 1 195.15 usb Yes
37 |475329 Hood 1 17.88 usb 5G-3-01 Yes
38 |496258 Noise insulation 1 36.04 usb Yes
39 (200584 Kabeldurchflihrung 1 7.91 usb Yes
40 (200822 Cable harness 1 28.60 usb Yes
40 |200567 Cable harness 1 5.19 usb Yes




41 496262 Clamp 2 12.15 usb 5B-1-08 Yes
42 1200594 Solenoid ring CTM / CTH 1 3.33 usb Yes
43 (496263 Sealing set 1 21.13 usb Yes
44 1496270 Turbine 120V 1 106.94 usb 5C-3-04 Yes
44 (496270 Turbine 120V 1 106.94 usD 5C-3-04 Yes
44 1496272 Turbine 100V 1 113.40 usb Yes
45 (496269 Carbon set 100-120V 1 35.63 usb 5A-2-07 Yes
46 (496256 Seal kit 1 16.01 usD 5G-3-03 Yes
47 [xxx No longer available 1 No
51 (200889 Cable harness 1 16.90 usb Yes
52 |200887 Holder 1 20.75 usb Yes
53 /200854 Dampening ring 1 6.84 usbD Yes
54 |xxx No longer available 1 No
54 (200874 Solenoid 1 58.46 usb Yes
55 |xxx No longer available 1 No
56 (201004 Spring 1 13.83 usb Yes
60 (200528 Spring plate 1 6.38 usb Yes
61 (498827 Valve collar 1 28.16 usb Yes
61 (498828 Valve collar 1 24.15 usb Yes
64 |200591 Holder 1 3.93 usb Yes
65 |xxx No longer available 1 No
66 (496221 Contact 1 18.90 usb Yes
67 |200568 Sleeve 1 6.31 usb Yes
69 (496223 Screen CT26 1 13.75 usD Yes
69 (496267 Screen CT36 1 13.61 usb Yes
74 |200593 Support CT 26/36 2 4.93 usD Yes
74 (200824 Support 2 3.87 usD Yes
75 |452840 Roller 2 12.66 usb 5A-3-07 Yes
76 1496233 Container CT26 1 67.10 usb 5G-3-03 Yes
76 (496232 Container CT36 1 72.79 usD 5G-2-01 Yes
76 (498634 Container CT 48 1 125.24 usb Yes
77 |200571 Pipe CT 26/36 1 9.71 usD Yes
77 /200823 Pipe 1 14.57 usD Yes
79 |467699 Tooth ring 2 1.27 usb Yes
80 |200570 Wheel cover 2 4.79 usb Yes
81 (452899 Blanking plug 1 17.00 usb No
81 (456799 Socket GB 110V 1 60.57 usb Yes
83 |--- See catalogue 1 No
84 (500253 Handle 1 56.57 usD Yes
85 (200873 Locking latch 4 6.06 usb Yes
86 |--- See catalogue 1 No
87 (500318 Grip 1 10.24 usD Yes
88 452449 Raised-head screw 5,0 x 40 mm 6 0.91 usb Yes
89 (35000546 Bracket 1 36.17 usbD Yes
90 (500320 Housing 1 89.12 usb Yes
91 |500319 Housing insert 1 27.77 uUsb Yes
92 (201023 Cable clamp 1 2.39 usb Yes
93 |500321 Container 1 19.83 usb Yes
94 (35000553 Box 1 53.29 usb Yes
95 (500314 Leg spring 1 11.55 usb Yes
96 |500327 Container 1 142.35 usb Yes
96 |500315 Container 1 167.71 usb Yes
96 (500328 Container 1 173.10 usb Yes
97 (500316 Wheel 1 27.66 usD Yes




|98 |500317

Torsion spring

18.67|

|usb

Yes




